Pg. 270
15. a. PQ/ST = QR/TR

b.  2.88 km

c. Yes; Since PR and Sr are corresponding sides in similar triangles, you can solve a proportion to find d.

d. No; since SR and QR are not corresponding sides in similar triangles, you cannot solve a proportion to find d.

30.  B

31.  F

32.  B

Pg. 278

20.  The drawing is larger than the actual image

22.  43.2 km

23.  7.2 km

24.  64.8 km

25.  18.7 km

26.  10.1 km

29.  a.  1 in : 6 in

b.  32 in

30.  .75 in

31.  2.25 in

32.  8.5 in

33.  3.5 in

34.  10.5 in

40.  x = 40 y = 32

Pg. 283

22.  15 ft

23.  45

24.  x = 45  y = 36

25.  3,996 mi

26. .75 in

Pg. 284

19.  875 mi

26.  x = 12  y = 14

28.  160 in

33.  1 cm : 78.6 cm

Pg. 688

26.  x = 8.56  y = 7.5

27.  x = 1.6
28.  450 ft

29.  600 ft

30.  300 ft

31.  1200 ft

32.  465 ft

33.  37.5 ft

